APPROVED
YW1045
40191524CMO

DATE
JL1183

18MAR24

REVISIONS

DESCRIPTION
INITIAL RELEASE

REV.

U-BOLTS USING TURN-OF-NUT METHOD WITH ATTENTION TO LEAVE EQUAL DISTANCE AND
EQUAL FORCE ON EACH LEG OF THE U-BOLT.

IDENTIFIED PRIOR TO INSTALLING THE APPURTENANCE. ADDITIONAL PRODUCTS MAY BE
4.0 TEST

REQUIRED TO MAINTAIN THE INTEGRITY OF THE SAFETY CLIMB. DURING INSTALLATION,
TEMPORARY AND/OR PERMANENT PRECAUTIONARY MEASURES SHOULD BE TAKEN TO

PRESERVE THE CLIMBING FACILITY AND/OR SAFETY CLIMB.

2.1 ANY HAZARDS OR OBSTRUCTIONS TO THE CLIMBING FACILITY AND SAFETY CLIMB MUST BE
[D 3.0 MANUFACTURING/SPECIAL REQUIREMENTS

3.1 TIGHTEN ALL BOLTS SECURING FLAT PLATES BY THE TURN-OF-NUT METHOD. TIGHTEN ALL
5.2 PRINTED DOCUMENT TO BE PLACED INSIDE POLYBAG AND THEN IN SHIPPING CONTAINER.

5.1 PACKAGING SHALL MEET COMMSCOPE REQUIREMENTS PER DOCUMENT [S-PL-3005.
5.3 EXTRA HARDWARE MAY BE SUPPLIED, BAGGED AND SHIPPED.

1.1 ALL METRIC DIMENSIONS ARE IN BRACKETS [X. X]

1.2 FOR PATENT INFO: https://www.cs-pat.com

1.0 GENERAL NOTES
2.0 DESIGN NOTES

5.0 PACKAGING

— N
Ll L
U o
I
- 5 <
<t <t
N/, S o o
Wi, <C i 5
NN i 7] T |2
NG Z |5 =2 o |z
— & T o @
= (n) 1
O |2 ul
o 1 o DI &)
w 00 —~ = %
NI <C 2 o T NEE
1 NG R =
N = o0 | x
1 NG s 0O = <
0 NG R 1 = =
NANINIKIA. 3 ¢
NN L o a) el
NN =
LN o o e
\\\\\%&%\\\\\s\» @) . — s T
\\\\\\ \e\\\\\\ <C =
Xy = = < cL| |3
T ! an i 2
N L = o g 2
N e ————— 75} w
N . = S
KNI ©l s S B | F
N, %) 75 &
\\\\\\\\\\\\\\\ BXIRIB OISO Y o o'e) lw
i S N
I ANl | T2
T = ~ = | 8|E
I L = ol
IO +l 3 2 =
\\\\“\\\\\\\\\\M\\\\\w\\\\w\\\\w\\\\w\\ B e = Z ~ =
A <
W, LLl 3
i = z
i . - z
T Q- | ¥y w | & S
i Olx I3 < | 4
L H m o | © W
Q) 2 » = -
/ =
———————— /7, < o
R TR , (@p) —
A /) & =17
e = |3 Q=
TR0 By ="=3 w N
TR < S = =
7 /A O ¢ z|g 2| g
TH807 ) /A 5 S S S| 8
0% /) / o O — =
v/ /v O| << S g5 @
e ———— / = —= w| = 0| w =
I 00K \ <
00 Ky / PR
Wl / :
TR 00 > oo P661-NS V) A ISNY ¥3d LIIQUIINI | |
. ORI TR S STHONI NI 34V SNOISNIWIA | Ry
\\\\a\\\\\\\\\\\\\\\\\\\\“\\\\\\\m.w\\\\\“\\\\\\\\\\\\\\\ = & |2 @314103dS ISIMYIFHLO SSTINN | & C
e e e =
A AR
X L ‘
! KD r g v, \\ = C R
\\\\\\\\\.\\\\\\\ .\\\\\\Q\\\ / D 17 c c
\\\\\\\\“\\\\\“\\\\\“\\\\\\\w\\\\\\\\\\\“&\ 7/4 = =
X (11111 /) / o ”
TR0 \ 8= g |- .
T L=/ = ~ 5 S |08 g
 —— e — o O W © -
~ oo w O N O
© AN N AN N ©©
o — > 0 W < = T T
B N7, ) = w» w [ = =
I Z = 2 < |\m Z
-
M2 a =9 T~
\\\\\.\sx <C
= e
o
k=
3
b=
/o)
(@)
g
= g
—
Q.
© 3
| I— S
Z :
L ] S
| (&
<
N
o
Y S
h — o oL 11 11 11 = 11 11 11 1o o)l p @
> o o em- L] -E- p »
E 3 (M 1 &
-1
o) i i
© | i
Lo H H
E N m W
2 3 b
4 -
~ A mrE
o i i S
S { -t —L-0 X
_|_5 m_ L ems . -m- N b Lo
5 g 4 1 A [ 0.
S | L
N E i 1 = m
9 H Y P
E 3 1=
[] Gl H
0 H
3 = 1 m
E i i
I Il £
J Hte o ) ) (1)
L1 hd U
‘ E w omo | ﬂnami. TT TT TT : TT TT TT .omo‘
—1
N
o))
A
N
o} — —
S <
2 S
X <
— - © —
S H
o) 3
N
|t N — N
| —
[}
»
0



SHEET
20F2

REVISION

DRAWING
STATUS
IW

EQ-P1818-EP-LP-004

DOCUMENT NO.
VERSION
00

32

SCALE

1

SIZE

C

—
S
=
e < <
S |3 &
@) L
@ o D
1HE
T
|
>~ » | 2| I
= E L =
2 o o .
| <C S =
2 o |2 Z
%A Ll 1) LL
<= = (oW =
— @) <<
o < @) O —
< o N | B o
L. O = o0
= = = =
© % W | 9 25
L5 0 =) o ~
Qo =)
2 & = :
ch L =
OO0
=
= AN
T3
o
<

TR 7

7
Y, XX
92,07
180

W
T

i AN
BN /. |

N )
=L

L2 7, —
\T\N\\ﬂ\\\\\\\\ ‘A “
7

~  _/

7 KX
v

.

7

o o Cmo.
\/ /A— = =
= W
= —
, w .. wm Qo
| L1E S
1 NETAV
— <
w << o
~ (= wwﬂz -
5 / > & 8
o / [
Lo ) 2>
< S © 1P|_u
o0 = _ '
- 1 DIE
W%B O
1UE - ()L °
S AW - Yol %38 - =
- Qv S Z o o o <
o Z < S = N O 7 = s 0
o T ) o —= — L T L ()
o w & S w Q= O=w ela) w
gxs SN faajim) w o > a
w <o ) G_._D._ W_.O,A 1@ w
/I\)DI on - nU. |__ - -
=85 32 I35 S& 2= =
T N oS = ~ o 2 O xxH Q- w L =
LL i o > 7CM EOS O )
T=0 o wd o Z 0§ T o W < o Z
<= O w PR = O uw D5 &=
Do EXZ o= S5
O =0< O=® > =
_|W3 g w od 0 > =
GRS w L @ =z . < m »
=z .9 T=0J Z O o S =
=) o . ER
Z W0 = — O uw O < <
O8&Y O w o <
O x w R =2
rodg A\ — O w WD
= O W Qa
o
oo
QI
3 w
A.Mn_.m D4S @ m
ZwS = «_mw co WWWm
w << a = =< 3 — W n
\ 0O p_mmnP = w o L
N DSA/_ = - = =
L << DO w
n,@w =z =
———— — O
N/ o &
<< =
a o
_MC
=
Z D
O 0O
<>
OD
O =

D
C
B
A

5

<:> 2024 CommScope, Inc. Confidentia

DETAILE
SCALE 1

NOTE NO.

WEIGHT

4945.98 LBS
325.92 LBS
214.62 LBS

1300.98 LBS

Y

1
1
1
1

QT

DESCRIPTION

PLATFORM, 18X18, BASE-KIT

LANDING-PLATFORM, 3'X3'
SHIP LADDER, 4' ELEVATED PLAT/HR

RISER FOR EQ-P1818-EP-LP, 4'

PART NO.
EQ-P1818-EP-B
EQ-P-LP-0303

EQ-SL4.0
EQ-P1818-EP-R4

ITEM
1
2
3
4




4 3
1.0 GENERAL NOTES
1.1 ALL METRIC DIMENSIONS ARE IN BRACKETS [X. X]
1.2 FOR PATENT INFO: https://www.cs-pat.com
2.0 DESIGN NOTES
2.1 ANY HAZARDS OR OBSTRUCTIONS TO THE CLIMBING FACILITY AND SAFETY CLIMB MUST BE
IDENTIFIED PRIOR TO INSTALLING THE APPURTENANCE. ADDITIONAL PRODUCTS MAY BE
REQUIRED TO MAINTAIN THE INTEGRITY OF THE SAFETY CLIMB. DURING INSTALLATION,
TEMPORARY AND/OR PERMANENT PRECAUTIONARY MEASURES SHOULD BE TAKEN TO
PRESERVE THE CLIMBING FACILITY AND/OR SAFETY CLIMB.
3.0 MANUFACTURING/SPECIAL REQUIREMENTS
3.1 TIGHTEN ALL BOLTS SECURING FLAT PLATES BY THE TURN-OF-NUT METHOD. TIGHTEN ALL
U-BOLTS USING TURN-OF-NUT METHOD WITH ATTENTION TO LEAVE EQUAL DISTANCE AND
EQUAL FORCE ON EACH LEG OF THE U-BOLT.
40 TEST
5.0 PACKAGING
5.1 PACKAGING SHALL MEET COMMSCOPE REQUIREMENTS PER DOCUMENT IS-PL-3005.
5.2 PRINTED DOCUMENT TO BE PLACED INSIDE POLYBAG AND THEN IN SHIPPING CONTAINER.
5.3 EXTRA HARDWARE MAY BE SUPPLIED, BAGGED AND SHIPPED.
EQP1818-ATT ° - )
(INCLUDED: < ° °
EQP01818-SB01 ot . .
EQP1818-HK01) w . . )
EQP1818HR-ATT -
(INCLUDED: -
EQP1818HR-SBO1
EQP1818HR-HKO01) ) -;\ \
SN
STRAP FOR REFERENCE

2 ]
REVISIONS
REV. DESCRIPTION DATE APPROVED
JL1183 YW1045
A INITIAL RELEASE 18MAR24 | 40191524CMO
STRAP FOR REFERENCE
EQP1818-HK01
.- - " EQP1818-SB01
.:r.: 2 ) =° - ° ee
EQP1818HR-SB01 2
EQP1818HR-HKO01
COMMSCOPE, INC. OF NORTH CAROLINA
TOLERANCES SAP MATERIAL MASTER
1PLACE X[X]z 0.2[6.3] 3 PLACE XXX[.X]+ 0.060[1.5]
2PLACE XX[X+ 0.12[3.0] ANGLES +  2° EQ-P1818-EP-B
FINISH MATERIAL
5 NAME DATE | TITLE
e AR PLATFORM, 18X18, BASE-KIT
DENSITY bsin®|  $=2 " Resssees
MASS 494598 Ibs ggg AD
VOLUME |17472.51 in? 222 [Re SCALE | DOCUMENT NO.
SURFACEAREA 1964887 " |  28Z  [EoN 40191524CMO 1:25 EQ-P1818-EP-B
HEIGHT [220.5" SIZE  |AuthGroup  INSL MODEL DRAWING SHEET
LENGTH |220.5" VERSION | STATUS [ REVISION | VERSION | STATUS | REVISION
@ 2024 CommScope, Inc. Confidential WIDTH | 50.9" C 6 00 00 W A 10F 4

2




AN

NLIIL/X

N N
(@) SN
ST
7 J TN
\ / ﬁ§§@®@@®@$§$§p
W I N T R
: RN
/7 NG INSTA e Amv
RS )
Wl )
D000 N
i NG 0
iy \\\\%\\\\\\\\\\\%
\\\\\\ 4 Q\\\\\\\\\\\y/\\\\\\\\& %
2 X7
Wi )
T, %
WX
T
i
T NN
T,
s
OIS ARl (00 \
i
@wwxwwwyx 1 4
\ \ ,.\“. \ ,c v
T
K

4%

-\\\‘\\\ «\\\:. q\\\{\\

000 \\ %) /ae

0y
/G
K B 7

SCALE 1:4

COMMSCOPE, INC. OF NORTH CAROLINA

TITLE

18X18, BASE-KIT

PLATFORM

DOCUMENT NO.

EQ-P1818-EP-B

DRAWING

SHEET
20F4

REVISION
A

STATUS
IW

VERSION
00

SCALE

20

1

SIZE

C

@ 2024 CommScope, Inc. Confidential @

U0 a0
\\\\\\\\\\\\\\\\\\..za.a. m .
i
\\\\\\\\\ = -
/A Wil < W
T R W <<
DK k)
\\&\\\\\\\k~ eq
0
®
@)
=
L
T
(@)
=
D DD D DD DD DD DD D[ DD D] DD DD
[a)] m [a)] om m m [a)] m om m m m m m [a] o o o m om
— — — — — — — — — — — — — — — - - - — —
— o N~ N~ o © © M~ [ap) (@] N~ [ap) o [e 0] o AN ~ N~ Lo [co] ~
L | Y| Q| ¥ M NIQ Q@ v NI | X || X 9 9 9|9
(O] AN < N D o o o o [co] N [e0) N (o)) ~ o o o o o o
H o o «© ~ ~ ~ ~
W N N o
Eln|o|e| T8 |23 |3~ |~ |F | |5 =« 38|82
=
't
()
L
a
> -
o Q =| = &
EN [0’ o =
N > 22 5 i
o= | |5l5| |2 -
£Z|=|a|a Q = i =
2T O |E P a W = o
El=E &3 L o o = | = () Q
_ ol == —1 -~ n X | 2 = o | =
o ow| o L o o) Q| o Tl L2 X o
= = e 8| 2|22l (=25 |3 TIE| (2|22 |3/% (2|5
_Ahn_||__L $D| |_,|_ym E _U < || w | w T m a| .| _U _U <C
< < o LWyl olo=<2|0o Qo2 ||| Q9=
W 2 Z|z|F =z |c|9|c DD | < | O |f| 2|22
0'e =Z| = < |>|< || 3 HlFl2| o - HI S| > > <
» O N < | < | - | | J| = | W w| w| al|=|E|9P]: S| S | 3
w T TS EIg|b sl a2 2Z|Z|Zlee|lx I3 |-
A o Clo 0 Z10|> ST |00/ 5I85IR|&5|9 9>
e (BB 2=y <332 25D |uxcT|y 2
[ e o |l o | x w <X | OO | glalalr|lF|lEF|=S|O|lg|x|x<x]|x]|O
> o ol |0 o o228 822852 3| x|le|n|m
m% PR I8 | Z v |lw|la|lf|lFlElg|ldla |t | 2|V | |o|le|o
o >
n <<
RM
ZZ 18|35 |23 NI S|
=5 zx/8|8|2|g <| [81218|3|<|8|%
o R D I < Il B N RIK S |a|Q || ol ol .
<= I8 I22|w!8 ST T s 3R © |29 m
a o oOoOn_NoonR/_uOOumBBRROoog%mmwO
=y S 38| Q8| FIE|T T T NS (S| L
o 15|518/55/£8|5/5/ 5552585z 2a s
mN_ D|o|/S|on|lo|o|s|Pldjlo|lo|o|sS|a|lsS|P|lo|lo|lo|d
=Z D
So|-
S |- |n|o|s|w|o|lrlo|o|2|o|¥eT|elex22|]
o9|=
o=
(A Q o <C



D
y = = Ll £ lal l-l! & lal T Sy lal 2 lal lala E/ Ll = — h ‘ ‘
: = - 5 = ’ b
:
| : | .
EE x EE
3? =t %E \ 3
| E ®
DI
= E g g g S n
]E eSS @[ 216.0(5486.4] 220.5(5600.7] S%i[/élh PS
K. B

i
[0}
[LaT]
L]
L]

i
6w
[LET]
[LE]
L]

T
i
i
i
i

: i 4 @// %?'4 \ @@ C
EE EE é‘ @
g : | |
()

Il A T ™1 v
DETAIL C
—~ 216.0[5486.4] -— SCALE 1:4
— 220.5[5600.7] -—
49.9[1266.2| —pm— o o T o - — e = = T ~ = < I
B
28.2[715.0]——55“—° e . N 2 o o s . . o —. . . s 50.9[1291.6]
110[2804] i : | I ‘ l I ' ' : ! | eererrres ! ‘m‘ ! l %m‘ i
Je . ekt Hi 4 e B o e H e f o °.clf : : H ‘) H j t-.o o Y
0[0.0] | ' ' '
C
S~ — Iy =) vy =) o ~
s 8 S = R = = g 2 S o 5 < 3 2 > X N
' = st S 2, 2, L =2, > & S ~ o = ~ g S
O k 0 0 10 2 o ot o el =, N, 2, 3, ~ o,
= A 5 S S ® NS S S © © © © © © ©
~ ~ ~ N ~ ~ N~ o N e o] <t o
< © (o)) N <t N~ o
~ ~ ~ N
COMMSCOPE, INC. OF NORTH CAROLINA
TITLE
PLATFORM, 18X18, BASE-KIT A
SIZE SCALE DOCUMENT NO.
C| 1:28 EQ-P1818-EP-B
DRAWING SHEET
@ 6 VERSION STATUS | REVISION
@ 2024 CommScope, Inc. Confidential 00 W A 30F 4




4 3 2 ]
ONLY SHOWN BASE FRAME FOR CLARITY

216.0[5486.4]

DETAIL E COMMSCOPE, INC. OF NORTH CAROLINA

PLATFORM, 18X18, BASE-KIT

= = =3 S =) =3 =
o » ™ < ™ ~ o
=) 3 oo > o o3 =) SIZE SCALE DOCUMENT NO.
< % & & : 2 C 128 £QPI51BEPB
« ~ = < % 2 DRAWING seeT
- @ J<J[ VERSION | STATUS | REVISION
@ 2024 CommScope, Inc. Confidential 00 W A 40F 4

N
w
N

]



1.0 GENERAL NOTES

1.1 ALL METRIC DIMENSIONS ARE IN BRACKETS [X. X]
1.2 FOR PATENT INFO: https://www.cs-pat.com

4

2.0 DESIGN NOTES

2.1 ANY HAZARDS OR OBSTRUCTIONS TO THE CLIMBING FACILITY AND SAFETY CLIMB MUST BE
IDENTIFIED PRIOR TO INSTALLING THE APPURTENANCE. ADDITIONAL PRODUCTS MAY BE
REQUIRED TO MAINTAIN THE INTEGRITY OF THE SAFETY CLIMB. DURING INSTALLATION,
TEMPORARY AND/OR PERMANENT PRECAUTIONARY MEASURES SHOULD BE TAKEN TO

PRESERVE THE CLIMBING FACILITY AND/OR SAFETY CLIMB.

3.0 MANUFACTURING/SPECIAL REQUIREMENTS
3.1 TIGHTEN ALL BOLTS SECURING FLAT PLATES BY THE TURN-OF-NUT METHOD. TIGHTEN ALL
U-BOLTS USING TURN-OF-NUT METHOD WITH ATTENTION TO LEAVE EQUAL DISTANCE AND
EQUAL FORCE ON EACH LEG OF THE U-BOLT.

4.0 TEST

5.0 PACKAGING
5.1 PACKAGING SHALL MEET COMMSCOPE REQUIREMENTS PER DOCUMENT IS-PL-3005.

5.2 PRINTED DOCUMENT TO BE PLACED INSIDE POLYBAG AND THEN IN SHIPPING CONTAINER.

5.3 EXTRA HARDWARE MAY BE SUPPLIED, BAGGED AND SHIPPED.

COMPONENT PART NUMBERS PROVIDED FOR ASSEMBLY PURPOSES;
INDIVIDUAL COMPONENTS MAY BE SHIPPED AS PARTS WITHIN AN INCLUDED KIT.

————

DETAIL A
SCALE1:5
8 PLACES

CONNECT WITH CHANNEL

OF PLATFORM

ITEM PART NO. DESCRIPTION QTY. WEIGHT NOTE NO.
1 MTC3823A40-00 WELDMENT, 4' ELEVATED LEG 2 52.91 LBS
2 MTC3823A41-00 WELDMENT, 4' ELEVATED LEG W/B 4 60.31LBS
3 MTC3823A42-00 WELDMENT, 4' ELEVATED LEG W/B 2 62.77 LBS
4 MTC3823A47-00 ANGLE BRACE LONG, 4’ RISER 6 77.28 LBS
5 MTC3823A48-00 ANGLE BRACE SHORT, 4’ RISER 8 4217 LBS
6 MTC3823A34-00 PLATE SPACER, ELEVATED LEG 7 0.18 LBS
7 GB-05205 5/8" X 2" GALV BOLT KIT 59 0.26 LBS
8 GWEF-05 5/8" GALV FLAT WASHER, 1.70D 76 0.06 LBS
4 3

@ 2024 CommScope, Inc. Confidential

]
REVISIONS
REV. DESCRIPTION DATE APPROVED
JL1183 YW1045
A INITIAL RELEASE 18MAR24 | 40191524CMO

EQ-P1818-EP-LP PLATFORM IS SHOWN FOR REFERENCE
(SOLD SEPARATELY)

COMMSCOPE, INC. OF NORTH CAROLINA

TOLERANCES

1PLACE X[X]+ 0.2[6.3]

3PLACE XXX[.X]+ 0.060[1.5]

SAP MATERIAL MASTER

EQ-P1818-EP-R4

2 PLACE XX[X]+ 0.12[3.0] ANGLES +  2°
FINISH MATERIAL
- NAME DATE | TITLE
£,2 JL1183 18MAR24
e g\sv RISER FOR EQ-P1818-EP-LP, 4'
DENSITY bsin®| %2 " essse
Sw<x
MASS [130098 Ibs i 3 s
VOLUME |4578.83 | 558 =2 SCALE | DOCUMENT NO.
f2s .
SURFACEAREA 3616429 in* | 225 [gon 40191524CMO 1:25 EQ-P1818-EP-R4
HEIGHT |237.5" SIZE  |AuthGroup  INSL MODEL DRAWING SHEET
LENGTH | 221.0" C @ 6 VERSION | STATUS | REVISION | VERSION | STATUS | REVISION
WIDTH |43.5" 00 00 IN 10F 2

2




4
~ (221.0[5613.4])
<=—32.0(812.8] —= 74.0(1879.6]
‘ T L
34.2(868.5]
P F fr fr
A o T o . o
(237.5(6032.3])
1943[49352]

<

<
, e RS AE2

106.0(2692.4] 106.0(2692.4]

6.5[165.1])
A 3/ ] -ﬁ\ 3
9.0[2286]) ' |[_.| '
L]
I
! \ )
(6.5(165.1]) ——= -
—~ (9.0[228.6]) =
SECTION B-B
SCALE 1:6
8 PLACES

DETAILC
SCALE1:5

DETAILD
SCALE1:5

COMMSCOPE, INC. OF NORTH CAROLINA

TITLE
RISER FOR EQ-P1818-EP-LP, 4'
SIZE SCALE DOCUMENT NO.
C | 1:20 EQ-P1818-EP-R4

DRAWING

HEET
@ J<J[ VERSION | STATUS | REVISION | °
@ 2024 CommScope, Inc. Confidential 00 IN 20F 2

]



4 3
1.0 GENERAL NOTES
1.1 ALL METRIC DIMENSIONS ARE IN BRACKETS [X. X]
1.2 FOR PATENT INFO: https://www.cs-pat.com
2.0 DESIGN NOTES
2.1 ANY HAZARDS OR OBSTRUCTIONS TO THE CLIMBING FACILITY AND SAFETY CLIMB MUST BE
IDENTIFIED PRIOR TO INSTALLING THE APPURTENANCE. ADDITIONAL PRODUCTS MAY BE
REQUIRED TO MAINTAIN THE INTEGRITY OF THE SAFETY CLIMB. DURING INSTALLATION,
TEMPORARY AND/OR PERMANENT PRECAUTIONARY MEASURES SHOULD BE TAKEN TO
PRESERVE THE CLIMBING FACILITY AND/OR SAFETY CLIMB.
[D 3.0 MANUFACTURING/SPECIAL REQUIREMENTS
3.1 TIGHTEN ALL BOLTS SECURING FLAT PLATES BY THE TURN-OF-NUT METHOD. TIGHTEN ALL
U-BOLTS USING TURN-OF-NUT METHOD WITH ATTENTION TO LEAVE EQUAL DISTANCE AND
EQUAL FORCE ON EACH LEG OF THE U-BOLT.
40 TEST
5.0 PACKAGING
5.1 PACKAGING SHALL MEET COMMSCOPE REQUIREMENTS PER DOCUMENT IS-PL-3005.
5.2 PRINTED DOCUMENT TO BE PLACED INSIDE POLYBAG AND THEN IN SHIPPING CONTAINER.
5.3 EXTRA HARDWARE MAY BE SUPPLIED, BAGGED AND SHIPPED.
C
GROUND ANCHOR TO BE
SUPPLIED BY CONTRACTOR
DETAIL A
SCALE1:3
B COMPONENT PART NUMBERS PROVIDED FOR ASSEMBLY PURPOSES;
INDIVIDUAL COMPONENTS MAY BE SHIPPED AS PARTS WITHIN AN INCLUDED KIT.
ITEM PART NO. DESCRIPTION QTY. WEIGHT NOTE NO.
1 EQPSL-1113-00 LADDER LEG, LEFT SIDE 1 33.69LBS
2 EQPSL-1114-00 LADDER LEG, RIGHT SIDE 1 33.69LBS
3 EQPHR-1109-00 HANDRAIL, LADDER 4 9.90 LBS
4 EQPS0624-00 6"X24" STAIR GRIP STEP 5 8.13LBS
5 MTC403721 POST, HANDRAIL 4 9.98 LBS
6 EQPSL-1102-00 HANDRAIL SPACER 4 1.81LBS
7 EQPSL-1103-00 HANDRAIL BRACKET LEFT 2 0.75LBS
8 EQPSL-1104-00 HANDRAIL BRACKET RIGHT 2 0.84 LBS
9 MTC9577L605 LADDER ANCHOR CLIP 2 0.92LBS
10 MTC9577.14 STEP CHANNEL MOUNTING ANGLE 2 3.10 LBS
11 GB-04125 1/2" X 1-1/4" GALV BOLT KIT 4 0.12LBS
12 GB-05205 5/8" X 2" GALV BOLT KIT 8 0.26 LBS
A 13 GWEF-05 5/8" GALV FLAT WASHER, 1.70D 8 0.06 LBS
14 GB-03205 3/8" X 2" GALV BOLT KIT 8 0.08 LBS
15 GB-03305 3/8" X 3" GALV BOLT KIT 8 0.11 LBS
16 GB-03165 3/8" X 1-3/4" GALV BOLT KIT 8 0.07 LBS
17 GB-03105 3/8" X 1" GALV BOLT KIT 20 0.05LBS
18 GWEF-03 3/8" GALV FLAT WASHER 22 0.01LBS

@ 2024 CommScope, Inc. Confidential

]
REVISIONS
REV. DESCRIPTION DATE APPROVED
L1183 YW1045
A INITIAL RELEASE 18MAR24 | 40191524CMO

DETAIL B
SCALE 1:3

DETAILC
SCALE1:3

COMMSCOPE, INC. OF NORTH CAROLINA

TOLERANCES SAP MATERIAL MASTER
1PLACE X[X]z 0.2[6.3] 3 PLACE XXX[.X]+ 0.060[1.5] EQ SL 4 O
2 PLACE XX[X]+ 0.12[3.0] ANGLES +  2° '
FINISH MATERIAL
5 NAME DATE | TITLE
£, 2 JL1183 18MAR24
e i\fv SHIP LADDER, 4' ELEVATED PLAT/HR
DENSITY bsin?| @2 " pesssee
Sw<
MASS | 214.62 lbs Exh AD
VOLUME | 760.31 in? o5y - SCALE | DOCUMENT NO.
225 .
SURFACEAREA 11026175 in* | 332 [gcN 40191524CMO 1:10 EQ-SL4.0
HEIGHT [37.3" SIZE  |AuthGroup  INSL MODEL DRAWING SHEET
LENGTH | 90.2" C @ Jé[ VERSION | STATUS | REVISION | VERSION | STATUS | REVISION
WIDTH | 30.3" 00 00 IW 10F3

2




DETAIL H
SCALE 1:3
2 PLACES
H E*
A N
= . {| =
At N
_ |
1 I 39.8[1010.3]
| 31.8[807.9]
23.8[605.5]
15.9(403.2]
| 7.9[200.8]
P L 0[0.0]
F
4

DETAIL G
SCALE 1:3
2 PLACES

/@

o°
8/
(-]
—/

2 |
29.8(758.1]
- A
|l |l A
=— — ‘ !
B S S R
& q @ 4O 4 LI o
< < L] L] <
© 4o 4O 49O 49O O
o O fodH fod (o (oo
01760170 1% 0% 0| 240[6006] 284[7214] 329[8357]
o 4o 4o do Jo of LT Allel. 9099, 37.3[946.2]
0o O (o O o & (o O o & o
) 49 49 4O LI &
< < L+ Lo <
) 49 49 LK) LI o
0o (o & (o & (o & (o & o
El<><o 49 40 LK oﬁﬂlBJ'
I = — !
[ [ !
_ !
90.2[2292.3]
o 2
O
o
B 5
68.5(1741.1] - -
I I
15
6
DETAIL D
SCALE 1:4
46.5[1181.1]
N
32.8(832.1] ﬂ
11
G
SECTION F-F
SCALE 1:2
CROP VIEW
COMMSCOPE, INC. OF NORTH CAROLINA
8.9[225.0] TTLE
SHIP LADDER, 4' ELEVATED PLAT/HR
0 [0'0] SIZE SCALE DOCUMENT NO.
C | 1:10 EQ-SL4.0
DRAWING SHEET
@ 6 VERSION STATUS | REVISION
@ 2024 CommScope, Inc. Confidential 00 W 20F3
2 ]



DETAIL M
SCALE1:3

DETAIL L
SCALE 1:3

SECTION E-E
SCALE1:7

DETAIL N
SCALE 1:3

@ 2024 CommScope, Inc. Confidential

COMMSCOPE, INC. OF NORTH CAROLINA

TITLE

SHIP LADDER, 4' ELEVATED PLAT/HR

SIZE SCALE DOCUMENT NO.
C | 1110 EQ-SL4.0
DRAWING
SHEET
@ J<J[ VERSION | STATUS | REVISION
00 W 30F3




	Sheet1
	Drawing View3
	Drawing View4
	Drawing View21

	Sheet2
	Drawing View22
	Detail View A (1 : 7)
	Detail View B (1 : 8)
	Detail View C (1 : 8)
	Detail View D (1 : 4)
	Detail View E (1 : 5)
	Detail View F (1 : 5)

	EQ-P1818-EP-B.pdf
	Sheet1
	Drawing View20

	Sheet2
	Drawing View1
	Detail View A (1 : 5)
	Detail View B (1 : 4)
	Detail View D (1 : 4)

	Sheet3
	Drawing View3
	Drawing View4
	Drawing View5
	Detail View D (1 : 3)
	Detail View C (1 : 4)

	Sheet4
	Drawing View11
	Drawing View14
	Detail View E (1 : 4)


	EQ-P1818-EP-R4.pdf
	Sheet1
	Drawing View1
	Detail View A (1 : 5)

	Sheet2
	Drawing View3
	Drawing View6
	Section View B-B
	Detail View C (1 : 5)
	Detail View D (1 : 5)


	EQ-SL4.0.pdf
	Sheet1
	Drawing View4
	Detail View A (1 : 3)
	Detail View B (1 : 3)
	Detail View C (1 : 3)

	Sheet2
	Drawing View5
	Drawing View6
	Drawing View10
	Detail View D (1 : 4)
	Detail View H (1 : 3)
	Detail View G (1 : 3)
	Section View F-F

	Sheet3
	Section View E-E
	Detail View L (1 : 3)
	Detail View M (1 : 3)
	Detail View N (1 : 3)



